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o7
o8
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85

08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
10:
10:
10:
10:
10:
10:
10:
10:
10:

40
40
40
50
50
50
50
50
50
o0
00
00
00
00
00
00
00
00
15
18
20
20
20
20
20
21
27
30
30
33
39
40
40
42
ol
54
57
00
00
00
03
03
03
10
10
10

Hr4H
Hr4H
FHT4H
FHT4H
FHT4H
FHT4H
HreH
5T14H
HT14H
Hr4H
FHT4H
FHT4H
FHT4H
FHT4H
HreH
5T14H
5T14H
Hr4H
HT4H
FHT4H
FHT4H
HT4H
FHT4H
5T14H
5T14H
H14H
Hr4H
FHT4H
FHT4H
FHT4H
FHT4H
5T14H
5T14H
514
Hr4H
FHT4H
FHT4H
FHT4H
FHT4H
FHT4H
5T14H
5T14H
HT14H
2LT4H
2LT4H
FHT4H

80k 4H
85k4H
905k&H
2575%4H
30j5%4H
35)5%4H
405540
45540
505%4H
555%4H
2555%4H
30j5%4H
35j5%4H
80 4H
855k 4H
905k 4H
605 &H
65k 4H
255540
30%4H
70j5%4H
755%4H
80p%4H
855k 4H
905k 4H
355%4H
A05K4H
405K H
AS5REH
455%4H
50j5%4H
50j5%&H
55)5&H
555%4H
60j5%4H
65k 4H
705%4H
7555%4H
50j5%4H
55j5%4H
805k 4H
8555k 4H
955k 4H
255%4H
3554k
25j5%4H

$HEK(3KG)
FHEK(3KG)
$HEK(3KG)
5000M
5000M
5000M
5000M
5000M
5000M
5000M

$LER (7.26KG)
$LER(7.26KG)
$LER(7.26KG)
F2E£E(400G)(B)
FEE£E(400G)(B)
f2E+&(400G)(B)
1524E(600G)
12EfE(600G)
100M

100M
Bz
ki
Pkiz
Bk
Bkiz

100M

100M
$LER(7.26KG)
$LER(7.26KG)
100M

100M
152fE(700G)
1524E(700G)
100M

100M

100M

100M

100M
#YEK (6KG)
#YEK(BKG)
100M

100M

100M

100M

100M

L8 (800G)

15

R
SR
R
R
R
R
R
I
R
R
ST
R
R
R
R
R
R
SR
SRR
R
R
R
R
R
R
SR
ERRIEOPAS 3
R
R
ERRIEDES 3
ERRIEDES S
AT
R
ETHFIAEE
SR
R
R
R
R
R
R
R
SR
S
R
R

2 AH2 N
FH3ALHBA
FHIAHLA
HINFEELA
2 N E2 AN
5 A FRES A
IR ELA
2 A E2 A
F5 A EES A
e N6 A
5 ALHB A
FHIAHLA
Fa \Hua N
2 H2 N
3 AHBA
FIALHA
e ALHI6 A
2 AHR2 N
TN ET AN
o N FFEES A
Fa N Hua N
Fa \Hua N
FIAHLA
FLALHA
2 AHR2 A
F2 2 A
2612 A, 53240 FRES A
FH3IAHBA
e A Hie A
11, 57240 FRAES A
10\, 57240 FEEE A
A N HU4N
e ALHIB A
3613 A, 53240 RS A
A N EEEAN
e N FEEe A
e N FEEe A
ES=PNEE(C-EPN
e A HUe A
3 AHBA
2 AR E2A
I FEES A
I ELA
F2 N E2 A
HIAFEELA
FH3IAHBA



86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114

10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
11
11
11:
11:
11:
11:
11

032 12p

037 12p

10
13
16
19
20
20
20
20
22
22
29
29
40
40
40
40
40
40
45
45
50
99

100
105

10
10
10
10

15

HTH
LT
LT
YT
ST
Fre
Fra
FHr
LT
LT
2T
LT
LT
LT
LT
YT
T
T
Fra
Fr
Fr
T
FTH
T
ST
ST
ST
ST
Fra

305%4H
4054
45]5%4H
505%4H
6075%4H
655kt
705520
755540
55j%AH
60J5%4H
75554H
80J%4H
40540
45]5%4H
555%4H
655%4H
355%4H
405%4H
705540
80j%4H
60J%4H
6555%4H
5055%4H
555%AH
305%4H
355%4H
40548
45]5%4H
455%4H

216 (800G)
100M

100M

100M

HEPE
HEHE
B
B

100M

100M

100M

100M
80MH(0.762M)
80MH(0.762M)
80MH(0.762M)
80MH(0.762M)
&5 (800G)
52 (800G)
80MH(0.762M)
80MH(0.762m)
100MH(0.840M)
100MH(0.840M)
100MH(0.914M)
100MH(0.914M)
110MH(0.991M)
110MH(0.991M)
110MH(0.991M)
15 (800G)
110MH(0.991M)

RE
RE
FEE
FEE
FEE
RE
RE
RE
RE
RE
RE
PE
RE
FEE
FEE
FEE
RE
FE
RE
RE
RE
RE
RE
RE
RE
REE
FEE
REE
RE

H3INHBA
HENFEESA
HINFZEEIA
5N FEESA
HHLA
HHLA
L2 H2A
H3NHBA
BN 2N
HINFEELA
EVYNEEL-ZUN
HINFEELA
HINFEELA
HINFZEEIA
HINFEELA
HINFEELA
SN YN
36 A\ HIB A
LA N FEAN
HINFEELA
EXVNEE - EUN
L3N FEEIA
BN -LUN
HENFEESA
HINFEELA
HINFZEEIA
2N EE2LA
128 A
HENFESA

(B%=) 11:30 ¥4 ( F&HERE 11:20 74 SpR)

(B¥+)

PERLER

16

(12:00~13:00)



115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160

13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
13:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
:30
:30
131
14:
14:

14
14
14

00
00
00
00
30
30
30
30
30
30
30
30
30
30
30
30
30
30
o0
50
00
00
00
03
03
06
09
10
12
15
18
20
21
24
24
28
28
28
28
30
30

31
35

H14H
H14H
FH14H
FHT4H
Hr4H
Hr4H
HreH
F14H
2014H
2014H
2014H
20540
FHT4H
FHreH
FHr4H
140
140
H14H
FH14H
FHT4H
FHT4H
2014
2014
e
F14H
F14H
H14H
FHT4H
FHT4H
FT4H
Hr4H
FHreH
140
F14H
140
20140
20540
214
20T4H
2014
2014H
2014H
F14H
2014H
20540
FHT4H

255%4H
30k4H
35pk4H
405%4H
255%4H
30j5%4H
35j5%4H
405 4H
30j5%4H
35pk4H
A0555H
455540
355%4H
405540
455540
50j5%4H
55)5%4H
A554H
SOpk4H
55pk4H
255%4H
50j5%4H
55j5%4H
30j5%4H
35)5%4H
405555H
A57&H
60L4H
S0pk4H
555%4H
60j5%4H
455540
65)5%4H
705%4H
75%4H
25%4H
)4k
45540
50j5%4H
85p%4H
60j5%4H
70j5%4H
65k 4H
60L4H
75%4H
80p%4H

FEH(2KG)
A (2KG)
PREI(2KG)
FEREHF(2KG)
Bk i
BlkiE
BlkiE
Blkis
$H1ER(4KG)
$ER(4KG)
$ER(4KG)
$riER(4KG)
EEEBlE
EEEBkE
EEPhE
Pk
B
A (2KG)
#EH(1.5KG)
FREF(1.5KG)
400M
$11ER(3KG)
$TER(3KG)
400M
400M
400M
400M
REIF(1KG)
400M
400M
400M
BlkiE
400M
400M
400M
400M
400M
400M
400M
$TER(2KG)
$H1ER(3KG)
$HER(3KG)
K (1KG)
400M
400M
400M

17

R
R
REE
REE
R
R
R
R
R
HEE
REE
REE
REE
R
R
R
HEE
R
REE
REE
R
R
R
REE
HREE
ERRISOPAS =3
aTHFIAEE
REE
REE
R
R
REE
A
HREE
HEE
R
REE
REE
R
R
HREE
R
R
R
R
REE

FH3AHBA
2 AH 2 A
1 ACELA
FH2 ACH2 A
FHIACELA
FHIACEA
FIACEGA
e ALHI6 A
1 AHLA
I AHILA
5 ALHB A
e \LHI6 A
FH2 AH2 N
2 NH2 N
Ha N HAN
2 AHR2 A
2 AHR2 N
8 AL HIB A
e A Hue A
FH2 A CH2 A
Fa N EAN
Fa N HA N
Ha N HAN
I EELA
T EETAN
S£10 A, 53240, S8 A
613 A, 53240, RS A
FH7 NH7 AN
E2OWNEE - PN
HI N FFEEIA
HI A FEEIA
FHT7 BT A
I FEEIA
2 A FEE2 A
EIPWNEE - PUN
S2OWNEE - PN
IR ELA
ELOPNEE - PN
HI A FEEIA
FHIACEA
3 AHBA
FH5 A HIS A
e ALHI6 A
I ELA
IR ELA
E2DPNEE - PN



161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
L
178
179
180
181
182
183
184
185
186
187
188
189
190
191

192
193

194
195
196

14:
14:
14:
14:
14:
14:
:50
14:
14:
14:
14:
14:
:50
14:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
16:
16:
16:
16:
16:
16:
16:

14

14

35
35
40
40
40
40

50
50
50
50
50

50
00
00
00
00
00
00
10
10
10
10
10
30
30
30
30
30
30
00
00
00
10
10
10
10

B4
H+4H
2540
240
240
ZF4H
Hr4H
H+4H
Hr4H
F+4H
H+-4H
H+4H
H+-4H
B4
H+4H
B4
H+4H
54
H+4H
14
248
240
2LF4H
240
B4
240
24l
240
B4
H+4H
B4
S 2
240
2LF4H
g 3+ &
F+4H
H+4H
H54H

(v F 07

85j5%4H
95j5%4H
35j5%4H
ASpLAH
60j5%4H
65j5%4H
255%4H
30j5%4H
35j5%4H
40555 4H
455540
50j5%4H
50j5%4H
70j5%4H
55j5%4H
60j5%4H
65k 4H
70j5%4H
755%4H
80j5%4H
25j5%4H
35j5%4H
40555 4H
455540
7555%4H
50j5%4H
55j5%4H
80j5%4H
80j5%4H
85k 4H
90j5%4H
Lk e
405%4H
50j5%4H
= A
30j5%4H
405%4H
45555 4H

03% 13p

140  F 4S8R

400M
400M
1500M
1500M
1500M
1500M
1500M
1500M
1500M
1500M
1500M
1500M

Bz
FRETH1KG)
1500M
1500M
1500M
1500M
1500M
1500M

Pz

Bz

Pz

Bz
FRETH1KG)
Bz

ki

Bz
FRETH1KG)
B (1KG)
RO (1KG)
4%100M4 4
400N R A% T
400N R
4%100M4= 4
400N R
400N RA%TJ
400 R

(E8Hp)
=F 07140 B 48k L)
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A=+
FEE
S
P
S
T
S
P
FEE
P
P
S
P
S
P
FEE
P
S
P
FEE
P
S
S
P
S
T
S
FEE
A=+
P
FEE
1200w
S
P
1:00=
P
FEE
S

-

SESWNEEC- SN
FLLAFEELA
SESWNEE 0 SWN
2 A FEE2 A
SESWNEE S SWN
2 AR A
SESWNEE 0 SWN
S NEE - 2IN
EESPNEES0-SUN
S PNEE0-EUN
EESPNEESC-SUN
EESWNEE 0 SN
Ft6 \HI6 A
7 HT A
EESPNEEC-SUN
2 N FEE2 A
S YNEESE-ZYN
SESPNEE0-SUN
EESWNESSE SN
SEPNEESC-2UN
FLIAHILA
FLLAHULA
2 HE2 A
2 AH2 N
F6 \HI6 A
2 AH2 N
H3IAHBA
FLIAHILA
H3IAHBA
2 ALH2 N
FLLAHILA
PSS 4o 4R
FLLER, HL LR
LR, AR
TP S F e 3R
LR, AR
FL2[%, HI2F%
LR, AR



197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240

08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
08:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:

00
00
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
20
20
20
30
30
00
00
00
00
00
00
00
00
00
00
10
10
10
10
30
30
30
30
33
33

24H
2ZLF4H
24
2F4H
24
2ZLF4H
24
2F4H
24
BT
FH4H
Frsl
FH4H
FHrsl
HT4H
FHrsl
FH4H
sl
FH4H
Frsl
FH4H
Frsl
24H
2ZF4H
FH4H
FHrsl
FH4H
Frsl
FH4H
FHrsl
FH4H
BT
24H
2F4H
H4H
BT
FH4H
Frsl
H4H
Frsl
24
2LF4H
H4H
Frsl

80jak&H
8575k 4H
30j3%4H
355%4H
65)5%&H
7055%4H
405%4H
505%4H
65)5%&H
255%4H
30j5%4H
355k4H
4055 4H
455%4H
50j5%&H
557%4H
60j5%&H
7055%4H
80jak&H
255%4H
4055 4H
455%4H
55)5%&H
60j5%4H
55)5%&H
60j5%4H
65)5%&H
705540
7575%4H
80J5k4H
855k &H
905k 4H
455%4H
5055%4H
50j5%&H
557k4H
60j5%&H
6575%4H
50j5%&H
557%4H
30j5%&H
40j5%4H
25)5%&H
355k4H

$88/f(0.75KG)
$56)f(0.75KG)
10000M
10000M
FEREF(1KG)
FLEF(1KG)
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
10000M
—4ibE
4Rk
—4fikiE
FEF(1KG)
FLHF(1KG)
k=

Bk

Bk

Bk

Bk

Bk

Bk

Bk
FEREF(1KG)
FHF(1KG)
=4kt
—4RikE
4Rk
—4ikiE
400MH(0.840M)
400MH(0.840M)
FEF(1KG)
FEF(1KG)
400MH(0.914M)
400MH(0.914M)

19

FEE
T
TR
T
FEE
S
FEE
T
FEE
T
FEE
S
FEE
L
FEE
T
FEE
T
FEE
T
FEE
S
FEE
S
FEE
T
FEE
T
TR
T
FEE
L
FEE
T
FEE
T
FEE
T
FEE
T
TFEE
T
FEE
T

FHAAHIA
FIAHA
FHAAGEELA
FELAFFEELA
FAAHIA
F5NHGG A
FHAAGEELA
FEIAFEELA
I NEE-2DN
FELAFEELA
S NEEE-2DN
F2 N FFEE2A
EIPWNEE-ZUN
FE3AFFEEIA
EIPWNEE-ZUN
TN AEETN
EIVWNEE-ZUN
FERIAFEELA
EIVWNEE-ZUN
2 A H2 A
FH2 H2 A
A N Hia N
FH5AHIS A
3N HBA
FH3I AN HBA
2 ALH2 A
H2 HR2 A
FIAHA
FH5AHIS A
FIAHA
FHAAHIA
FIAHA
FH5AHISA
5 HGG A
FH3I A HBA
2 AH2 A
H2 HR2 A
FH3INHBA
FHAAGEELA
FEIAFEELA
FHAAHIA
FH3INHBA
o 2N
F3 A FFEE3A



241
242
243
244
245
246
247
248
249
250
251
2952
293
254
250
256
297
298
259
260
261
262
263
264
265
266
2677
268
269
270
271
272
273
274
275
276
277
278
279
280

09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
09:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:

36
39
42
45
45
45
45
48
50
50
o0
29
o8
00
00
01
01
04
04
04
05
05
07
10
13
16
22
28
34
37
40
40
40
40
40
40
40
43
43
46

FeH
B
2y
252H
254H
FeH
B
FTH
FeH
FeH
FreH
2y
252H
FeH
FreH
2Ly
254H
2ZeH
2y
2Ly
FETH
FeH
FeH
Fre
FETH
BT
FeH
FeH
B
FTH
FeH
2
FreH
FETH
BT
FeH
FreH
B
FTH
FeH

4055520
4555%4H
255540
50j5%4H
655%4H
60j5%4H
655k 4H
80j3%2H
80j5%4H
855k4H
905%4H
255540
4055%2H
70555%4H
7555540
4555%4H
50j5%4H
55j5%4H
7555540
805%4H
705540
755%4H
25540
305%4H
355%4H
4055%2H
455520
50j5%4H
555%4H
60j5%4H
655%4H
80j5k4H
80j5k4H
855k 4H
90j5%2H
60j5%4H
65j5k4H
705540
75140
80j5k2H

400MH(0.914M)
400MH(0.914M)
400MH(0.762M)
300MH(0.762M)
300MH(0.762M)
300MH(0.762M)
300MH(0.762M)
200MH(0.762M)

HEER(3KG)
SR (3KG)
SR (3KG)
200M
200M
=SpkiE
=SpkE
200M
200M
200M
200M
200M
SR (4KG)
HEER(4KG)
200M
200M
200M
200M
200M
200M
200M
200M
200M
=SpkE
=dpkiE
= SpkiE
—&hikiE
FHIK (5KG)
SR (5KG)
200M
200M
200M

20

REE
RE
RE
R
RE
R
RE
RE
R
R
RE
RE
HE
HE
RE
RE
HE
HE
RE
RE
RE
HE
HE
RE
RE
EIRIERPAS 3
EIRIERFS
S THRF AR
RE
RE
HEE
RE
RE
RE
HEE
HE
TRE
RE
RE
HEE

HENFFEESA
HANFFEEAN
SESWNEES-SUN
LI FEELA
HUFEELA
HINFEE3SA
SISWNEE-SUN
LI FEELA
FRIAHA
H3IAHBA
2 H2 A
SIVNNEE-PUN
SR UNEE LN
H3IAHBA
H5AHISA
2 FEE2A
EESPNEE--EUN
FHINAEEIA
HUFEELA
HUEELA
H7 NHTA
5 AHB A
He \FFEE6A
e N\ FFEE6 A
S YNEES-ZIN
10K, 53240, RS A
9\, 3240, FRES A
69\, 240L FREB A
HTNFEETAN
SLVNNEE-PUN
SRS -ZUN
HIAHIA
H2 AHR2 A
HIAHA
FH2 N HR2 A
FRIAHIA
H2 A HR A
HANFFEEAN
LI FEELA
FHUNEELA



281
282
283
284
289
286
287
288
289
290
291
292
293
294
295
296
297
298
299
300
301
302
303
304
309
306
307

308
309

10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
:00
:00
:00
:00
:00
:05
:05
11:
11:
11:
11:
:20
:20
:20
:20
:20
220
:40
145
:45
:45

11
11
11
11
11
11
11

11
11
11
11
11
11
11
11
11
11

037

46
46
50
50
50
50
50
50
50
50

10
10
10
15

13 R

B4  8s5pk4H  200M
B4l 955k4H  200M
ZF4 30p%4H  800M
24 S55pk4H  800M
24 60pk4H  800M
24 65pk4H  800M
24 755%4H  800M
74 40pk4H 800M
74 45p%4H  800M
724 S0p%4H  800M
B4 2554  800M
B4 3034 800M
B4 35p%4H  800M
B4 SO0pR4H SEEK(6KG)
B4 S5pk4H SEEK(6KG)
B4 40p%4H  800M
B4l 45540 800M
B4l  S0pk4H  800M
B4  S555%4H  800M
B4  60pk4H  800M
B4  655k4H  800M
B4  70p%4H  800M
B4  80pk4H  800M
B4 955k4H  800M
B4 25p%4H  $EEK(7.26KG)
B4 40p%4H  $EEK(7.26KG)
BT4H 45p%4H  HIER(7.26KG)
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Patiwece Coshidence Conseniric

SIWARD

Looking for

A PROGRESSIVE
STRATEGY

for your

COMPANY
DEVELOPME!

CRYSTAL SMD TYPE

Application: Bluetooth, LTE, SAS,
Automotive, TPMS, Wearable Devices

OSC SMD TYPE

Application: Multimedia, ADSL,
WLAN, PCI-E, Wearable Devices

TUNING FORK(32.768kH:

Application: Bluetooth, DVBH, WLAN
Smart Metering

VCXO SMD TYPE
Application: MPEG, ADSL, Settop Box

VC/TCXO SMD TYPE
Application: GPS, LTE, Femtocell

=ERERIEAZAEIRLE] SIWARD CRYSTAL TECHNOLOGY CO,, LTD.

No. 141, Ln.111, Sec.3, Zhongshan Rd., Tanzi Dist., Taichung City 42756, Taiwan, RO.C  Tel +886.4.2534.7909  Fax +886.4-2532.7885 Emall sales@swardcom  www.slward.com
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SHKECHERS

~ 4 % SKECHERS % 2
https://www. facebook. com/SKECHERS-464090063609240/
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